(a)0-8

0.7

Cost ratio
s ° o o
(%) e W (=)

o
o

0.

L L LA LAALRRRAR EARRRRRAR RRRRRRAL) LA LS

o—o HAMOCC
tracer transport

»—= sync halos
v—= exch. ICON-O HAMOCC -

ITTTTITI ITTTTTNITI ANRNNAN ARRRRRRAT ARRRRRRATe INRRRRRTTI ITTTTUITA IOUUOINL

(=1

10

20

30

40
Nodes

50

60

70

=3
=}

() e L B B L L
F total ]
350 o—o HAMOCC 3
r tracer transport ]
r »—= sync halos ]
300 v—v exch ICON-O HAMOCC
250 4
Z200F 3
E Ot ]
£ r ]
150 — -
n — ]
L —>— — —— . ]
100 -
50 3
Ok\\\\\V‘v_Y—v—H—r—‘—‘—A—A—A | e e S S Y \A\\\‘\\\\\A.\\\A
20 30 40 50 60 70

Nodes



